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5. �>DF4? "�=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<< 6 >5D47>64=<<" 
http://www.ict.edu.ru/ 
6. Web of Science Core Collection ?>?<F5<4F<G5E>4O D5D5D4F<6=>-5<5?<>7D4D<G5E>4O < 
=4G>><5FD<G5E>4O (5<5?<><5FD<G5E>4O) 5474 44==OE http://www.webofscience.com 
7. �>?=>F5>EF>6O= 4DE<6 «�4F<>=4?L=O= -?5>FD>==>-�=D>D<4F<>==O= �>=E>DF<G<» 
(�-����) https://neicon.ru/ 
8. �47O 44==OE <744F5?LEF64 Springer https://link.springer.com/ 

 

6.3. �5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O 

1. �?5D4F<>==4O E<EF5<4 Microsoft Windows XP Professional Russian 
2. �?5D4F<>==4O E<EF5<4 Microsoft Windows 7 Professional Russian  
3. �?5D4F<>==4O E<EF5<4 Microsoft Windows 10 Professional Russian 
4. �D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5 Microsoft Office 2010 Standart 
5. �D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5 Microsoft Office 2013 Standart 
6. �D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5 Microsoft Office 2016 Standart 
7. �D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5 OpenOffice 
8. �D<E=>5 ?D>7D4<<=>5 >55E?5G5=<5 LibreOffice 
9. �D>7D4<<4 4?O D4E?>7=464=<O F5>EF4 ABBYY Fine Reader 11 

10. �D>7D4<<4 4?O ?D>E<>FD4 PDF Foxit Reader 
11. �=F5D=5F-5D4G75DO  

 
7. ��&�$���,��-&�%��'�%��� ���%��'���� ��%&�����/ 

 



�4<<5=>64=<5 ?><5M5=<= 4?O ?D>6545=<O 6E5E 6<4>6 GG55=>= 45OF5?L=>EF<, 
?D54GE<>FD5==>= GG55=O< ??4=><, 6 F>< G<E?5 ?><5M5=<O 4?O E4<>EF>OF5?L=>= 

D45>FO, E G>474=<5< ?5D5G=O >E=>6=>7> >5>DG4>64=<O, GG55=>-=47?O4=OE ?>E>5<= 
< <E?>?L7G5<>7> ?D>7D4<<=>7> >55E?5G5=<O 

�4D5E (<5EF>?>?>65=<5) 
?><5M5=<= 4?O ?D>6545-
=<O 6E5E 6<4>6 GG55=>= 

45OF5?L=>EF< 
 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O GG55=OE 74=OF<= ?5>F<>==>7> < E5<<=4DE>>7> 

F<?4, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56G-

F>G=>= 4FF5EF4F<< 3 4-1 ?45>D4F>D<O �54<>>-5<>?>7<G5E><5 >E=>6O 557>?4E=>-

EF< 6<7=545OF5?L=>EF<. 

�E=>6=>5 >5>DG4>64=<5 < F5E=<G5E><5 ED54EF64 >5GG5=<O: 

%?5F<4?<7<D>64==4O <555?L =4 14 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, D45>G55 <5-

EF> ?D5?>4464F5?O. 

%4D4>F5D<EF<>4 ?45>D4F>D<<: 

&5?56<7>D LED 4211(106E<), �>E<?>< >>6L>6O5 F5?5E>>?<G5E><5 YDC-4�,  �>E<?>< 

>>6L>6O5 F5?5E>>?<G5E><5 YDC-4�, $>5>F FD5=465D «�46DNL4», $>5>F FD5=4-

65D «�>L4-�», $>5>F FD5=465D «�>L4-06»,  

&D5=465D E5D45G=>-?57>G=>=  < <>77>6>= D54=<<4F<< «�4>E<<», %G<>4 E4=<F4D=4O, 

&>=><5FD, &>=><5FD 46F><4F<G5E><=, &>=><5FD <5E4=<G5E><= VA-100, ,<=4 

FD4=E?>DF=4O M?4EF<G=4O ?>?<<5D=>-4?N<<=<564O 4?O =>7 (900E120 <<), ,<=4 

FD4=E?>DF=4O M?4EF<G=4O ?>?<<5D=>-4?N<<=<564O  (700E90 <<), �?F5G>4 <=4<6<4G-

4?L=4O ��-2  �?F5G>4 ?5D6>= ?><>M< D45>F=<>4<, �><??5>F ?D>F<6>>6>7>6O=, 

�=4<6<4G4?L=O= ?D>F<6>E<<<G5E><= ?4>5F ���-11, �4FD4E <<<>5<?<74F<>==O= 

64>GG<=O= ���-4, ��&-02 (�?F5G>4 ����) 3 =45>D <745?<= FD46<. ?5D6>= <54<-

F<=E>>=  ?><>M<, �>E<?>< ??4M56O5 �'%, %G<>4 E4=<F4D=4O E> E?5FG>?44>>=. 

'G55=>-=47?O4=O5 ?>E>5<O: 

�?7>D<F<O >>474=<O ?5D6>= ?><>M<, 4=F<F5DD>D, �D>D5EE<>=4?L=O5 745>?564=<O 

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O GG55=OE 74=OF<= ?5>F<>==>7> < E5<<=4DE>>7> 

F<?4, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56G-

F>G=>= 4FF5EF4F<< 3 4-2 

�E=>6=>5 >5>DG4>64=<5 < F5E=<G5E><5 ED54EF64 >5GG5=<O: 

%?5F<4?<7<D>64==4O <555?L =4 24 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, D45>G55 <5-

EF> ?D5?>4464F5?O.  

%4D4>F5D<EF<>4 4G4<F>D<O:  

�>GF5G> (?D>7D4<<=>-4??4D4F=O= >><??5>E) Lenovo 3 B590-016,  

�>GF5G> (?D>7D4<<=>-4??4D4F=O= >><??5>E) Lenovo 3 B590-016, ?5D5=>E=>5 >5>-

DG4>64=<5. �D>5>F>D BenG  

'G55=>-=47?O4=O5 ?>E>5<O: 

-?5>FD>557>?4E=>EFL. &5E=<>4 557>?4E=>EF< ?D< E64D>G=OE D45>F4E. &5E=<>4 557-

>?4E=>EF< 7DG7>?>4N5<=OE D45>F. �>64D=4O 557>?4E=>EFL. �5D56>7>4 >?4E=OE 

7DG7>6 46F>FD4=E?>DF><. �57>?4E=>EFL D45>F =4 <5F4??>>5D454FO64NM<E 

EF4=>4E. 

 �57>?4E=>EFL FDG44 ?D< 45D56>>5D45>F>5. �57>?4E=4O M>E??G4F4F<O ?4D>6OE 

>>F?>6. �57>?4E=>EFL D45>F E DGG=O< <=EFDG<5=F><. �57>?4E=>EFL D45>F =4 

>5N5>F4E 6>4>E=4565=<O < >4=4?<74F<<. �=4>< 557>?4E=>EF<. &5E=<>4 557>?4E=>-

EF< 6 747>6>< E>7O=EF65. �54<F<=4. 

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O GG55=OE 74=OF<= E5<<=4DE>>7> F<?4, 7DG??>6OE 

< <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4-

F<< 3 4-3 

�E=>6=>5 >5>DG4>64=<5 < F5E=<G5E><5 ED54EF64 >5GG5=<O: 

%?5F<4?<7<D>64==4O <555?L =4 24 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, D45>G55 <5-

EF> ?D5?>4464F5?O.  
%4D4>F5D<EF<>4 4G4<F>D<<:  

�<45><47=<F>D>=, F5?56<7>D 20F-89,  

DVD-??55D. 

 ?5D5=>E=>5 >5>DG4>64=<5 �D>5>F>D BenG  

'G55=>-=47?O4=O5 ?>E>5<O: 

�<45>>=<74 �>474=<5 ?5D6>= ?><>M<. �<45>>=<74 �5D64O <54<F<=E>4O ?><>ML. 

�<45>>=<74 �D4>F<>G< ?> >D4=4<. �<45>>=<74 %5>D=<> ?> 557>?4E=>EF< ?D><76>4-

EF64. �<45>>=<74 'D576OG4==O5 E<FG4F<<. �<45>>=<74 -?5>FD>557>?4E=>EFL. �<-

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 



45>>=<74 �57>?4E=>EFL ?D><76>4EF64 < GD576OG4==OE E<FG4F<=. 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O GG55=OE 74=OF<= ?5>F<>==>7> < E5<<=4DE>>7> 

F<?4, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56G-

F>G=>= 4FF5EF4F<< 3 4-4 

�E=>6=>5 >5>DG4>64=<5 < F5E=<G5E><5 ED54EF64 >5GG5=<O: 

%?5F<4?<7<D>64==4O <555?L =4 60 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, >4D54D4, 

D45>G55 <5EF> ?D5?>4464F5?O.  

%4D4>F5D<EF<>4 4G4<F>D<<:  

6<45>?D>5>F<>==>5 >5>DG4>64=<5,  

ED54EF64 76G>>6>E?D><76545=<O (->D4= ScreenMedia =4EF5==O= DG?>==O=, �D>5>-

F>D BenG MP 623) 

'G55=>-=47?O4=O5 ?>E>5<O: 

 '7>?>> �D4644=E>>= >5>D>=O.  �D74=<74F<O 7D4644=E>>= 74M<FO 6 $$. �EF>-

D>6=> F5DD>D<7<. $>EE<=E>4O E<EF5<4 ?D54G?D5645=<O < 45=EF6<= 6 '%. '% ?D<-

D>4=>7> E4D4>F5D4. %D54EF64 74M<FO 6 '%. '% F5E=>75==>7> E4D4>F5D4. �>6D4-

G55=4O ?><>ML 6 '%.  

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O GG55=OE 74=OF<= ?5>F<>==>7> < E5<<=4DE>>7> 

F<?4, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56G-

F>G=>= 4FF5EF4F<< 3 4-5 

�E=>6=>5 >5>DG4>64=<5 < F5E=<G5E><5 ED54EF64 >5GG5=<O: 

%?5F<4?<7<D>64==4O <555?L =4 20 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, >4D54D4, 

D45>G55 <5EF> ?D5?>4464F5?O.  
%4D4>F5D<EF<>4 4G4<F>D<O:  

'G55=>-=47?O4=O5 ?>E>5<O,  

,>4D ?45>D4F>D=O= 6OFO6=>=. 

�5D5=>E=>5 >5>DG4>64=<5 �D>5>F>D BenG MP 623 

'G55=>-=47?O4=O5 ?>E>5<O: 

�FF5EF4F<O D45>G<E <5EF.  ,G< < 6<5D4F<O. -?5>FD><47=<F=O5 <7?GG5=<O. 

 �D74=<74F<O D45>F =4 >><?LNF5D5. �D><76>4EF65==>5 >E65M5=<5. %D54EF64 <=-

4<6<4G4?L=>= 74M<FO. �D><76>4EF65==O= <<>D>>?<<4F. �D<5>DO >>=FD>?O 

>>DG64NM5= ED54O. �D54=O5 65M5EF64. �D><76>4EF65==4O 65=F<?OF<O.%D54EF64 

<=4<6<4G4?L=>= 74M<FO. 

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O GG55=OE 74=OF<= E5<<=4DE>>7> F<?4 3 94 

?45>D4F>D<O >55E?5G5=<O 557>?4E=>EF< =4 ?D><76>4EF65 < 6 GD576OG4==OE 

E<FG4F<OE 

�E=>6=>5 >5>DG4>64=<5 < F5E=<G5E><5 ED54EF64 >5GG5=<O: 

%?5F<4?<7<D>64==4O <555?L =4 14 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, D45>G55 

<5EF> ?D5?>4464F5?O.  
%4D4>F5D<EF<>4 ?45>D4F>D<<:  

�45>D4F>D=4O GEF4=>6>4 ��-8 «�5F>4O >G<EF>< 6>4O» E �%% 6>44,  

�45>D4F>D=O= EF5=4 «�>64D>->ED4==4O E<7=4?<74F<O»,  

�45>D4F>D=O= EF5=4 «�EE?54>64=<5 >E65M5==>EF<»,  

�45>D4F>D=O= EF5=4 «�7<5D5=<5 E>?D>F<6?5=<O <7>?OF<< >5<>F>> 

M?5>FD>46<74F5?O»»,  

�45>D4F>D=O= EF5=4 «�7<5D5=<5 G45?L=>7> E>?D>F<6?5=<O 7DG=F4»,  

�45>D4F>D=O= EF5=4 «�EE?54>64=<5 74?O?5==>EF< 6>74GE4»,  

�45>D4F>D=O= EF5=4 «�57>?4E=>EFL 6<7=545OF5?L=>EF<.  

-?5>FD>557>?4E=>EFL» �&&-17.55.3, 

 ?5D6<G=O5 < >E=>6=O5 ED54EF64 ?>64D>FGL5=<O, L4=E>6O= <=EFDG<5=F. 

'G55=>-=47?O4=O5 ?>E>5<O: 

 �7<5D5=<5 E>>D>EF< 6>74GL=>7> ?>F>>4. �7<5D5=<5 <>=<7<DGNM<E <7?GG5=<=. 

 �7<5D5=<5 >E65M5==>EF<. �7<5D5=<5 M?5>FD><47=<F=OE <7?GG5=<=. 

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, 

F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<<, >GDE>6>7> ?D>5>F<D>64=<O 

(6O?>?=5=<O >GDE>6OE D45>F), 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, 

F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<<: 4-10 

�E=>6=>5 >5>DG4>64=<5 < F5E=<G5E><5 ED54EF64 >5GG5=<O: 

%?5F<4?<7<D>64==4O <555?L =4 24 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, >4D54D4, 

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 



D45>G55 <5EF> ?D5?>4464F5?O.  

%4D4>F5D<EF<>4 ?45>D4F>D<<: 

10 >><?LNF5D>6  

�<F5=7<>==>5 ?D>7D4<<=>5 >55E?5G5=<5:  

�% Windows 10 (?>4?<E>4 Microsoft Imagine Premium >F 12.12.2016). %D>> 45=EF6<O 

?<F5=7<< 3 55EED>G=>. 

$>EE<=E>>5 ��. NI LabVIEW 8.0 (�<F5=7<O 341083D-01 >F 03.02.2008).  

�<F5=7<>==>5 ?D>7D4<<=>5 >55E?5G5=<5 >F5G5EF65==>7> ?D><76>4EF64:  

APM WinMachine (�<F5=7<>==O= 4>7>6>D $�� -32/524/2015 >F 30.04.2015). %D>> 

45=EF6<O ?<F5=7<< 3 55EED>G=>. 

�����%-3D (%G5?<F5=7<>==O= 4>7>6>D 7�&-19-00205 >F 07.05.2019) 

�����%-3D (�>=FD4>F 172 >F 28.12.2014).  

%6>5>4=> D4E?D>EFD4=O5<>5 ?D>7D4<<=>5 >55E?5G5=<5:  

OpenOffice (�5E??4F=>5\E6>5>4=> D4E?D>EFD4=O5<>5 ��) 

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 74? =4GG=>= 5<5?<>F5><) 

%?5F<4?<7<D>64==4O <555?L =4 100 ?>E44>G=OE <5EF, 4>E>4 =4EF5==4O, >4D54D4, 

D45>G55 <5EF> ?D5?>4464F5?O. 

15 >><?LNF5D>6 E 6OE>4>< 6 ?>>4?L=GN E5FL < �=F5D=5F, M?5>FD>==O< GG55=>-

<5F>4<G5E><< <4F5D<4?4<, 5<5?<>F5G=><G M?5>FD>==><G >4F4?>7G, -�%, > M?5>-

FD>==>= <=D>D<4F<>==>->5D47>64F5?L=>= ED545. 

�<F5=7<>==>5 ?D>7D4<<=>5 >55E?5G5=<5:  

�% Windows 10 (?>4?<E>4 Microsoft Imagine Premium >F 12.12.2016). %D>> 45=EF6<O 

?<F5=7<< 3 55EED>G=>. 

Microsoft Windows Defender (�>=FD4>F 70327100004513000065_45788  >F 

28.01.2014). %D>> 45=EF6<O ?<F5=7<< 3 55EED>G=>. 

�<F5=7<>==>5 ?D>7D4<<=>5 >55E?5G5=<5 >F5G5EF65==>7> ?D><76>4EF64:  

�����%-3D (%G5?<F5=7<>==O= 4>7>6>D 7�&-19-00205 >F 07.05.2019) 

1C:�D54?D<OF<5 8 (�<F5=7<>==O= 4>7>6>D 2205 >F 17.06.2015) 

%6>5>4=> D4E?D>EFD4=O5<>5 ?D>7D4<<=>5 >55E?5G5=<5:  

LibreOffice 3 %6>5>4=> D4E?D>EFD4=O5<>5 ��. 

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. %>65F-

E>4O, 4.24 

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O GG55=>7> 

>5>DG4>64=<O >>D?GE 3 4-95 

%4D4>F5D<EF<>4 ?><5M5=<O:   

�>F<=><5FD �>E>>64, �=5<><5FD &�� ���-50, �=5<><5FD ��-1�-2 G4L5G=O=, 

�>7<<5FD D44<><5FD �$��-03, �>7<<5FD D44<><5FD ��-5�, �>7<<5FD 

D44<><5FD ��-1, $44<><5FD &�� ��� <>45?L 12, �N>E<5FD-?G?LE<5FD &��-

��� <>45?L 08, �<>D>E>>? 5<=>>G?OD=O= EF5D5>E>>?<G5E><= ��%-10, �??4D4F 

4?O >?D545?5=<O F5<?5D4FGDO 6E?OL>< 6 74>DOF>< F<7?5 &��-�%� ��%& 6356, 

�5=7>75=5D4F>D, �>64D=4O GEF4=>6>4 (<>F>?><?4), �5EO ?45>D4F>D=O5 ��-210�, 

�5EO M?5>FD>==O5 AND HT-500, ,F4F<6 ?45>D4F>D=O= ?/DD>=F. D45>F. ,$$, 

��&$, �7<5D<F5?L ?4D4<5FD>6 <<>D>>?<<4F4 �5F>E>>?-�, �7<5D<F5?L 

M?5>FD<G5E><E < <47=<F=OE ?>?5= &<>?>=-05, �N>E<5FD &�� �N>E, 

�<5D>LG<><5D �,�-003,  

�D<5>D 4?O <7<5D5=<O LG<4 < 6<5D4F<< �,�, /D>><5D &�� ���-02, �<5D><5FD,  

%D54EF64 <=4<6<4G4?L=>= 74M<FO (>4E>< < >>EFN<O �$�, �-1, ���), �N>E<5FD 

.-117, �47>4=4?<74F>D �>?<>=-1�, -?5>FD>4E?<D4F>D, �<7D><5FD-?E<ED><5FD 

��&-1, ��&-2 

243365, �DO=E>4O >5-

?4EFL, �O7>=<GE><= D4=-

>=, E. �>><=>, G?. �5=<=4, 

4.4 

�><5M5=<O 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O GG55=>7> 
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